
D01-AH13 REV8 

 

 

PA
R
T
S
 L

IS
T

R
E
V
.

D
E
S
C
R
IP

T
IO

N
PA

R
T
 N

U
M
B
E
R

Q
T
Y

IT
E
M

 
D
ri
ve

 U
ni
t

T
C
S
-9

80
 D

U
1

1
 

B
ot

to
m
 B

lo
ck

T
C
S
-9

80
 B

B
1

2
 

H
oi
st

 C
ha

in
6
,3

x1
9
,1
 C

ha
in

1
3

 
C
ha

in
 D

ow
n 

S
to

pp
er

T
C
R
-1
00

0 
C
D
S

1
4

T
it
le

 o
f 

Pr
oj

ec
t

A
pp

ro
ve

d 
B
y

C
he

ck
ed

 B
y

D
ra

w
n 

B
y

D
es

ig
ne

d 
B
y

B
. 
A
it
ke

n

R
. 
T
w
or

ek

R
. 
T
w
or

ek

N
T
S

S
ca

le

S
ur

na
m
e

S
ur

fa
ce

 R
ou

gh
ne

ss

A
ng

ul
a
r 
`

0,
5°

Li
ne

a
r

If
 I
n 

D
ou

bt
 A

sk

2 
/ 

2 

24
 K

g
W

ei
gh

t

0

T
it
le

 o
f 

Pa
rt

T
C
S
9
80

 -
 0

.9
8T

 2
F
 A

H

D
a
te

(o
r 

eq
ui
va

le
nt

)

M
a
te

ri
a
l

S
he

et
 S

iz
e

A
3

G
en

er
a
l 

A
ss

em
bl

y D
at

e

R
ev

is
io
n

Pr
of

il
e 

N
um

be
r

R
ep

la
ce

s 
D
ra

w
in

g

--

10
/0

2/
20

22

S
ig

na
tu

re

P
a
rt

 N
um

be
r

T
C
S
-9

80
 P

2E

up
 t

o 
 5

  
`

0
,0

5
ov

er
 5

 u
p 

to
 3

0 
`

0
,1

ov
er

 3
0
 u

p 
to

 1
20

 `
0,

2
ov

er
 1
20

 u
p 

to
 5

00
`

0,
2
5

ov
er

 5
00

 u
p 

to
 1
00

0
 `

0,
5

ov
er

 1
00

0 
`

1

N
10

T
ol

er
a
nc

es
a
ll

 d
im

en
si
on

s 
a
re

 i
n 

m
il
im

et
er

s
un

le
ss

 o
th

er
w
is
e 

sp
ec

if
ie
d

08
/0

2/
20

22

10
/0

2/
20

22

G
. 
K
ru

pi
ns

ki
11/

02
/2

02
2

14
/0

2/
20

22

16
1

20
5

n40

n
40

510 MIN

TBC

T
B
C

24

24

6
9

20
3

24

14
0

30

TBC

1 23 4

35

29

29

30

24



D01-AH13 REV8 

































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































   
  





















    
























D01-AH13 REV8 




























































































































































































































































































































































































































































































D01-AH13 REV8 























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































D01-AH13 REV8 



























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































D01-AH13 REV8 























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































 










         

 

   





















D01-AH13 REV8 

























































































































































































































































































































































































































































































































































































































































































































































































































































 






 

 

 

 







D01-AH13 REV8 ▪  Red Rooster Lifting Limited ▪ Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ ▪ Tel: +44 (0) 1651 872101 ▪ D01-P7 REV1

Pendant - VRD-2R



D01-AH13 REV8 ▪  Red Rooster Lifting Limited ▪ Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ ▪ Tel: +44 (0) 1651 872101 ▪ D01-P7 REV1

Fig. No. Part Number Part Name Parts 
Per 
Hoist

1 131705008 HEX. SOCKET HEAD CAP SCREW M5X8 1

2 420228VRD PENDANT VALVE ASSEMBLY 1

2A 420218VB0 THROTTLE VALVE 2

2B 420228VR0 VALVE BODY 1

2C 420218VF0 BUSHING 2

2D 420223W40 LEVER D 1

2E 420223W30 LEVER U 1

2F 130402053 LEVER PIN 1

2G 130802220 SPRING 6X14X0.6 2

2H 420228W50 FRONT CASE 1

2J 420228W60 REAR CASE 1

2L 131705010 HEX. SOCKET HEAD CAP SCREW 
M5X10

1

2M 132405014 PHILLIPS PAN HEAD MACHINE SCREW 
M5X14

3

2N 132904220 PHILLIPS PAN HEAD SELF-TAPPING 
SCREW 4X20

6

2P 132105005 HEX. SOCKET SET SCREW M5X5 4

2S 131109001 O-RING S-3 (HS90) 2

2T 131103008 O-RING S-10 2

2U 131103009 O-RING S-11.2 2

2V 420224V61 EMERGENCY STOP VALVE 1

2W 420228V50 EMERGENCY STOP BUSHING 1

2X 136690503 EMERGENCY STOP BUTTON 1

2Y 420228W00 PUSH ROD 1

2AA 131103002 O-RING S-5 2

2AB 131103004 O-RING S-6 2

2AC 131103008 O-RING S-10 1

2AD 131103009 O-RING S-11.2 2

2AE 130303004 RETAINING RING E-4 1

2AF 304P 1/8 BSP TO 6MM PUSH FIT ELBOW 1

2AG P118 6MM PLUG IN ELBOW 1

2AH P087 1/8 BSP TO 6MM PUSH FIT 3

2AJ DRG-
SI10394-T2

2 STATION PENDANT BRACKET 1

2AK 113/1 HEX. SOCKET HEAD CAP SCREW 
M6X16

1

2AL 113P HEX. SOCKET HEAD CAP SCREW 
M6X20

1

2AM 145P FLAT WASHER M6 5

2AN 139P NYLOC NUT M6 2

2AP P245 6MM TO 1/8 BSP BULKHEAD ADAPTOR 4

2AQ P071/1 1/8 BSP HEX NIPPLE C/W 60° CONE 4

3 426230F1B STRAINER WIRE 1

4 1/4-HOSE 1/4 ANTI-STATIC RUBBER HOSE 4

4A P016/1 1/8 BSP TO 1/8 HOSETAIL SWIVEL 8

4B P002/1 1/4 HOSE FERRULE 8

Pendant - VRD-2R



D01-AH13 REV8 ▪  Red Rooster Lifting Limited ▪ Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ ▪ Tel: +44 (0) 1651 872101 ▪ D01-P7 REV1

Fig. No. Part Number Part Name Parts 
Per 
Hoist

1 131705008 HEX. SOCKET HEAD CAP SCREW M5X8 1

2 420228VRD PENDANT VALVE ASSEMBLY 1

2A 420218VB0 THROTTLE VALVE 2

2B 420228VR0 VALVE BODY 1

2C 420218VF0 BUSHING 2

2D 420223W40 LEVER D 1

2E 420223W30 LEVER U 1

2F 130402053 LEVER PIN 1

2G 130802220 SPRING 6X14X0.6 2

2H 420228W50 FRONT CASE 1

2J 420228W60 REAR CASE 1

2L 131705010 HEX. SOCKET HEAD CAP SCREW 
M5X10

1

2M 132405014 PHILLIPS PAN HEAD MACHINE SCREW 
M5X14

3

2N 132904220 PHILLIPS PAN HEAD SELF-TAPPING 
SCREW 4X20

6

2P 132105005 HEX. SOCKET SET SCREW M5X5 4

2S 131109001 O-RING S-3 (HS90) 2

2T 131103008 O-RING S-10 2

2U 131103009 O-RING S-11.2 2

2V 420224V61 EMERGENCY STOP VALVE 1

2W 420228V50 EMERGENCY STOP BUSHING 1

2X 136690503 EMERGENCY STOP BUTTON 1

2Y 420228W00 PUSH ROD 1

2AA 131103002 O-RING S-5 2

2AB 131103004 O-RING S-6 2

2AC 131103008 O-RING S-10 1

2AD 131103009 O-RING S-11.2 2

2AE 130303004 RETAINING RING E-4 1

2AF 304P 1/8 BSP TO 6MM PUSH FIT ELBOW 1

2AG P118 6MM PLUG IN ELBOW 1

2AH P087 1/8 BSP TO 6MM PUSH FIT 3

2AJ DRG-
SI10394-T2

2 STATION PENDANT BRACKET 1

2AK 113/1 HEX. SOCKET HEAD CAP SCREW 
M6X16

1

2AL 113P HEX. SOCKET HEAD CAP SCREW 
M6X20

1

2AM 145P FLAT WASHER M6 5

2AN 139P NYLOC NUT M6 2

2AP P245 6MM TO 1/8 BSP BULKHEAD ADAPTOR 4

2AQ P071/1 1/8 BSP HEX NIPPLE C/W 60° CONE 4

3 426230F1B STRAINER WIRE 1

4 1/4-HOSE 1/4 ANTI-STATIC RUBBER HOSE 4

4A P016/1 1/8 BSP TO 1/8 HOSETAIL SWIVEL 8

4B P002/1 1/4 HOSE FERRULE 8

Pendant - VRD-2R Pendant - VTP2M

▪  Red Rooster Lifting Limited ▪ Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ ▪ Tel: +44 (0) 1651 872101 ▪ D01-P2 REV1









 

































D01-AH13 REV8 

Pendant - VTP2M

▪  Red Rooster Lifting Limited ▪ Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ ▪ Tel: +44 (0) 1651 872101 ▪ D01-P2 REV1

Fig. No. Part Number Part Name Parts 
Per 
Hoist

1 105P M4 X 20 CHEESE HEAD SCREW 2

2 E/STOP/GUARD01 YELLOW E-STOP GUARD 1

3 113/1P M4 NYLOCK NUT 2

4 BIK3206P-BS54 EMERGENCY STOP BUTTON 1

5 304P 8mm TO 6mm BANJO 4

6 P118 90º ELBOW 6mm 2

7 P112 4 WAY JUNCTION 1

8 301P 8mm TO 6mm REDUCER 1

9 BIK-3209-P-VALVE PENDANT VALVE 2

10 P087 1/8" TO 6mm PUSHFIT 2

11 TP/HOUS/M 2 STATION MACHINED PENDANT 1

12 BIK-3209-294-B-COVER COVER FOR BIK VALVES 2

13 XAC-B-LEGEND-UP UP LEGEND 1

14 XAC-B-LEGEND-DOWN DOWN LEGEND 1

15 P245 1/8" TO 6mm BULKHEAD AND NUT 4

16 DRG 2652-01 PLATE 1

17 P071/1 1/8" BSP NIPPLE C/W CONE 4

18 112P M6 x 20 HEX BOLT 2

19 P117 8mm BLANKING PLUG 1

20 139P M6 NYLOCK NUT 2

21 145P M6 WASHER 2

22 P016/1 1/8" BSP SWIVEL TO 1/4" HOSE TAIL 4

23 P002/1 1/4" HOSE FURRULE 4


